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7 Gérard Doukhan & Claude Wiedenhoff, 2nd Pr. Jubilé A. Argüelles-80, Problemas 1982-83 
 

 

 

1.gxf5 ! (5 points) [2.Rd3#]  

1...Bxe3 2.Qxe3# 1...Sb3 2.e5# 1...Sxc6 + 2.Sxc6# 

 

1.Qb4 ? [2.Qb6#] but 1...Bxe3 !  1.c5 ? [2.Qc3#] but 1...Sc4 !  

1.e5 ? [2.Bb6#] but 1...Qd8 !       1.exf5 ? [2.Bb6#] but 1...Sd7 !     

1.g5 ? [2.Rd3#] but 1...f4 !  

 

 

 

#2                       (14+10)  

8 Josef Cumpe, 1st Prize Deutsche Arbeiter-Schachzeitung 1914 (mirrored) 

 

 

1.Qh8 ! [2.Qg7 (1 point) ~ 3.Qg3#]  

1...Kg5 2.Kf3 (1 point) ~ 3.h4#  

1...Kg4 2.Qh6 (1 point) ~ 3.h3#  

1...f6 2.Qh5 (1 point) ~ 3.Sg6#  

1...Bxd6 2.Qh4+ (1 point) Ke5 3.d4# 

#3                       (6+10)  

9 Mikhaïl P. Kuznetsov (v), 2nd Pr. Shakhmaty v SSSR 1971 

 

 

1.Rc1 ! [2.Sxe6 + Kd3 3.Sc5 + Kc4 4.Sxe3 + (2 points) Kd4 5.Sf5#  

1...Sg3 2.Sxe3 + Kd4 3.Sc2 + Kc4 4.Se4 + (1 point) Kd3 5.Sxf2#  

1...Bg4 2.Sxa6 + Kd3 3.Sc5 + Kc4 4.Sa3 + (1 point) Kd4 5.Sb5#   

1...Qg6 2.Sxd7 + Kd3 3.Sc5 + Kc4 4.Sb4 + (1 point) Kd4 5.Sc6# 4...Qc2 5.Sb3,Sxe6# 

 
                                                                   

   

  

#5            (9+14)  

10 David Gurgenidze, 1st HM Buletin Problemistic, 1993 

 

 

 

1.Nf6 Rc2+ 2.Kd4! (2 points) (2. Kb3? Rg2!) 2...Rd2+ 3.Ke5 Rd8 4.Kf5 (1 point) 

4...Ra8! (1 point) (4...Rb8 5.Rh1+ Kg7 6.Rh7+ Kf8 7.Rh8+) 5.Rh1+ (5. Kg6 Ra1) 5...Kg7 

6.Rh7+ Kf8 7.Ke6 (1 point) Re8+ (7... b1=Q 8.Rf7#) 8.Nxe8 b1=Q 9. Rh8# 

+               (3+4) 

 

 

11 Andreï Frolkin & Sergeï A. Komarov, 1st HM Phénix 1991 

 

 

 

1.Se1 Bh3 2.Kc7 Bxf4 + 3.Kc8 Bh2 4.Bd8 Bxe6# (2.5 points) 

 

1.Sh4 Bg1 2.Sc7 Bxb5 3.Bd5 Bf1 4.Bc6 Bxf2# (2.5 points) 

 

 

H#4       2 sol.      (3+14)  

12 William A. Whyatt, 3rd HM 136° T.T. British Chess Federation 1973-74 

 

 

1.Qf7 ! [2.Qxe6 + Sxe6,Sd7 3.Bxb7 + (2 points) Bxb7#]  

1...e1=Q 2.Sf3 ~ 3.Bxb7 + (1 point) Bxb7#  

1...e1=R 2.Se2 ~ 3.Bxb7 + (1 point) Bxb7#  

1...Qe3 2.Sf5 ~ 3.Bxb7 + (1 point) Bxb7# 

S#3                    (7+14)  

                          


